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— SAHA~CAM(2E215,0.8km, HI~ = &)
700,000,000 =14 700,000
— WA~ A(2ET7S,2.5km, SHH~H L)
300,000,000 =14 300,000
— HUH~ARA (2175 ,6.3km, & 2~A )
200,000,000 =14 200,000
O&+=+2 104,700
-2 HYUEX 349,000& 1502 52,350
—=2% 028X 349,000& 150 52,350
OZFEI =8 2,880
- 2E HYSX ZHEI £4E
1,200,000, 000& *0.08%*3 2,880
O8Jl+==+g8 5,250
~PC HYRX SII242
15,000 350 X 5,250
Onl2EX 24 120,000
— 2% 022X 243 100,000& *1,200m’ 120,000
03 A& S THHI 4,320 2,160 2,160
OZESHZIAMY AL
1,200,000,000& *0.36% 4,320




2N AL DED
. czAdze
Chel: CRAMLs Ty (S &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SHEC2SH I ALY 4,851,880 6,190,703 A 1,338,823
401 AIZHIZL 2 ThHI 4,851,880 6,190,703 A~ 1,338,823
01 Al& | 4,840,270 6,176,715 A 1,336,445
OsSHESRZ SEXTA 4,300,000
—SSH(L=1.4kn, R SS)
1,000,000,0002! * 14| 1,000,000
— Ot CHel = (L=0.8km, OI& 2 Xt)
300,000,0002! * 14| 300,000
— S (L=0.7kn, H= 1)
300,000,0002! * 14| 300,000
—0l24 (L=1.8km, & EH2)
500,000,000 * 14| 500,000
— &HARA (L=1.2km, BHQF B401)
700,000,000 * 14| 700,000
— 2B (L=0.5km, A HH)
500,000,000 * 14| 500,000
— Jt0I S (L=0.5km, OI& JIE)
500,000,000 * 14| 500,000
— S E & (L=0.5km, OF& 2EH)
500,000, 0002 * 14| 500,000
O A AI & H Yl 300,000
—S&46(L=0.5kn, E& 24)
300,000, 0008 * 14| 300,000
O=axr22z 104,700
—=S0EC2 HYULX 349,0002 » 150 52,350
—=0Ec2 028X 349,0002 » 150 52,350
OAFBI +42 10,320
—SOHECR YRR LFHEI 242
4,300,000, 0002 *0. 08%+*3 10,320
OSJl+22 5,250
- SOHEZ2 BHYRX SIx22
15,0008 *350Z X| 5,250
OngsX 24 120,000
—=O0EZ2 028X  100,0008 *1,200m 120,000
03 Al 2THHI 11,610 13,988 A2,378
OAl& =LYl 11,610
—ANERUH(SHEEZZ SZTAY)
4,300,000,0008! +0.27% 11,610
SZAERNES 3,668,716 4,873,304 A1,204,588
CRANERAEL+HE 3,668,716 4,873,304 A 1,204,588
101 @1 A 29,588 29,236 352
03 B2 (RIIAHA)22HES 22,260 22,260 0
O=Z2242 JIEZY 22,260
— n/=y 150,0002! * 142 23] 4,200




AN ALNSH

M T 2AA2E

el TRALRKES (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— Ot& gt 150,000& *14H 2,100
—EEES (S, AE) 130,000& *14H 1,820
— 229 ¢ & 20,000& *14H x2 560
— XX AS Y] 30,000& x14H 420
— M 2 SOl S|
8,000& x14H »80 8,960
— X HH .23 o= .Ul . BA.22 & &
204 i 75,000& *14Y x4 4,200
04 JIZtHI2E2EXNSE 7,328 6,976 352
O WEsSEXA 73,280& x50 x2 7,328
201 et A | 289,570 286, 180 3,390
01 At 22l ] 256,670 255,680 990
O=E2=2=4ol3 FEAHxY 100,000 *7H «43] 2,800
O & Solithzd 2 2H|l 8,000&*17H 80! 10,880
MME HoE U 2AD| YXE
550,000 *6LH x70L 231,000
Oxz:=24+3 toa 4,850
— a2 1,500& *1,500L 2,250
— AMRA 29| 2,000,000 1Al 2,000
— &) LdX=E 600,000& = 1CH 600
ONEXTA 29| 3,500
— 2HANH] 5,000& *300H 1,500
— ObX 2Tt 100, 000& *20H £ 2,000
O#gAMse & J=2N EES HH 3,640
— 39 60,000& * 110 A *43] 2,640
—E8= 100& *10,000& 1,000
02 3524l 32,900 30,500 2,400
OEIZEZY (5&E E8= 2,300,000& «1CH 2,300
OZ4A(0.2m, 0.1m) B2
3,500, 000& =2LH 7,000
OLHAAZX 8.5E EE= 2,000,000& = 1CH 2,000
ONIIMNESZ 21,600
—g32dsE 2W HXI| NMIIAMNES
100,000 x1CH*12& 1,200
— S Z2ZAE EIIAZE2 100,000 120 ~12& 14,400
— T2z L B3 AIRA
500,000& x12& 6,000
206 M = Hl 343,880 271,380 72,500
01 X2t 343,880 271,380 72,500
Ox=z2dHIE XM 7 100,000 x25JH x5F 12,500
O&dldE dalzts 7Y 227,500
— & EEHEH 350,000& *400& 140,000
— ELHI & H 250,000& *350& 87,500




AN ALNSH
. T2 A2

?2: S2ANEFXNE=S

SN HH-S(BN) - MBAY - B il HlnE2
OggrAl 2¢ 20,000& 700 M 14,000
OuWlIl *FMH 1,600& *4004 *12CH 7,680
SU SlUME EBH BN
400,000& =53 CH 21,200
OHIME DRMY DA (RHR)
600,000& »20CH 12,000
OHBIME doE S22
2,000,000& x12& 24,000
O=35 S (ZHotAR) 2
25,0002 +1,000%£ 25,000
302 Ol =L Mo E &2 10,000 0
02 2IZ2tol Mo Y = & A= 10,000 0
ORIZoITHH E & S 10,000
—ATRR TRAM AD Y L Ml
10,000,000 10,000
401 AIEHIZL 20 4] 2,478,178 A 1,749,830
01 A& Bl 2,474,398 A 1,737,500
OE2HE MY 600,000
— 2535 MMEE(L=2.0km, & Al2)
200,000,000& 14l 200,000
-ZE115 W= 2.0km, W & ~ot1 )
200,000,000& 14 200,000
—2E235 2B AN M (L=0.6kn, A& =& )
200,000,000 =14 200,000
OEzZRA A ,525,000
— 2R E=H 20,000,000 *25JH 4~ 500,000
— Xt & A 2,000, 000& *200km 400,000
— 28 ZHJI 1,000, 000& *200km 200,000
—E2HX® Hb| 5,000,000& *25H 2~ 125,000
~FENDEATAL Mo ALSHS
20,000, 000& 1574 2~ 300,000
Ong 3l 150,000
—WERXE 50,000,000 *3H 2~ 150,000
ONEZS HHEEG 118,400
- DY HUFA(HED 9 3HA)
10,000,000& *4JH 2~ 40,000
— DY FINFA(IED o 59HL)
420,000 *60H 2 *23] 50,400
— DY WSS B 89(an 2 3HA)
7,000,000 *4H 2~ 28,000
O &l Al & A HI 80,998
—SZ2HES 600,000,000& *4.07% 24,420
— SRl 1,525,000,000& *3.71% 56,578
03 Al =2 THHI 3,780 212,330

OA&=2HbI

3,780




2N
X XH
L=}

el

HENEDN
D EZ A 2L
CEANERIES

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—S2HE=AMZ 600,000,000& *0.63% 3,780
405 TtHabF S| 517,500 48,500 469,000
01 AL EFSHSHI 517,500 48,500 469,000
OXtet & =23FHS 517,500
— =471 0.6m 250,000,000 = 1CH 250,000
— g 5& 100,000, 0003 = 1CH 100,000
—E"™ 258 60,000,000 = 1CH 60,000
—g32E 4E)| 158 60,000,000 = 1CH 60,000
— EdY 228 HMED| 3,000,000 =15CH 45,000
—JIAS & =2l 500, 000& +50H 2,500
20 MRE 2 3= 10,499,520 6,215,038 4,284,482
= 68,000
< 250,000
s 10,181,520
otd ztel 4,795,074 1,747,914 3,047,160
= 68,000
< 250,000
e 4,477,074
ZIIotE R X2 4 (4012 21) 68,000 68,000 0
= 68,000
401 Al HIZ 201 8] 68,000 68,000 0
= 68,000
01 A& HI 68,000 68,000 0
O=HIEXZ ALY 68,000
—AN&EE Sz, EEZ
68,000,000& =14 68,000
= 68,000
Gt & TH off Ol & AL 3,267,074 1,179,914 2,087,160
101 @124l 247,874 167,314 80,560
04 JI12ZtHZ22HEE = 247,874 167,314 80,560
Oota el At 247,874
—Jles 83,5603 *12 x168 168,457
— T4 83,5603 x12H 32 32,088
—Hlx=g 83,5603 x 12«8 8,022
— 28z 280,763,000 *14% 39,307
206 = Hl 8,400 6,300 2,100
01 =8l 8,400 6,300 2,100
Octdatelel QRAS I
1,400& x500£ 120H 8,400
401 AIEHI L 2CHYI 3,010,800 1,006, 300 2,004,500
01 A& Hl 3,000,000 1,000,000 2,000,000
O ot & THoH 0l 2 AH 3,000,000




2N

Fags|
M 9 HRE 2 3=
chel: ot el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— Mg &Yl L=2.0km, =& L=13km, X & =S H A
2,500= 3,000,000, 000& 14 3,000,000
03 Al 2 THHI 10,800 6,300 4,500
OAE =R HHI 3,000, 000,000& *0.36% 10,800
STURE THOH Ml 2 AL 700,000 0 700,000
401 Al HIZ 201 8] 700,000 0 700,000
01 A& HI 700,000 0 700,000
O& 22 & XHaoH ol & A 700,000
—sSE 1L, MEExs 700,000,000& 700,000
SHEAIE R X2 el ALY 260,000 0 260,000
201 Ler24E] 30,000 0 30,000
02 =224l 30,000 0 30,000
OStEANESF X 2l ALY 30,000
—X28dIz, =E23 2,500,000& 124 & 30,000
401 Al HI K 201 230,000 0 230,000
01 A& HI 230,000 0 230,000
OStEANEER A2l ALY 230,000
— ANESsX 22l L=8.52kmn
150,000, 000& * 14! 150,000
—INSEAMAHAAE S 3L
80,000,000 » 14l 80,000
LS A U AL (B LX) 500,000 0 500,000
< 250,000
fia 250,000
401 A& HIZ 201 I 500,000 0 500,000
< 250,000
e 250,000
01 A& HI 496,426 0 496,426
OZHIEx= At 496,426
— ABIGIE HHIALS (B2 X +)
496,426,000& » 14! 496,426
< 250,000
s 246,426
03 Al 2 0HHI 3,574 0 3,574
OEHIEXAY 3,574
—UUStE ZHIAISE (X)) 3,574,000& 3,574
s&83 2el 5,704,446 3,824,375 1,880,071
A0HE KAl ALY 2,128,446 1,824,375 304,071
101 @124 dl 20,886 17,895 2,991
04 JI2ZtHZ22HEE =+ 20,886 17,895 2,991
OGtEBYUERX B4YE & SIEX 20,886
—Jlas 73,2803 x 18 %200 14,656




AN ALNSH
M 9t HRE 2 2=
Hel: S 83 2l

SHE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- =44 73,2802 * 12 x40 2,932
— oz 73,2802 * 12 *10 733
- g8z 18,320,000 *14% 2,565
401 AlEHI 2 20 2,107,560 1,806,480 301,080
01 Al&HI 2,100,000 1,800,000 300,000
OAGtE S22l 2,100,000
— AGHE X 22| AF (1670 A /185km)
2,000,000, 000%4 * 14l 2,000,000
— AXIE AHI(L=0.05km) 100,000,000 14! 100,000
03 Al 2 HH 7,560 6,480 1,080
OA &L 2,100,000,000% *0. 36% 7,560
ACHEEHI (M) (MEALY) 3,076,000 2,000,000 1,076,000
401 Al HI 2L 200 3,076,000 2,000,000 1,076,000
01 Al&H| 3,067,717 2,000,000 1,067,717
ORETEMY 3,067,717
— AGHE THAHOIZAI (B2AAGE 2 204A)
(&8) 1,538,000,000& 1,538,000
— AGHE THAHOI LA (B2AAGE 2 204A)
(X ghdl) 1,529,717,0002 1,529,717
03 Al& 2 HH 8,283 0 8,283
OZSTEMNY 8,283
— AGHE THAHOIZ ALY Al& S OHHI (X ZHHI)
8,283,000 8,283
BHEA THOHS S AGHA RH L ADE Z2IAAE 500,000 0 500,000
IEAY
401 Al HI 2 200 500,000 0 500,000
1 A& H 500,000 0 500,000
OMS A THolF % ASHE HH 2L ADGE 2g
AAE D= ALY 500,000
— ABH& Hdl( L=0.7%m ) 500,000,000 500,000
Sololmeinx 23,103,800 21,185,398 1,918,402
=2 858,000
= 2,016,000
[ 3,883,400
2 16,346,400
SENSHY 2 SUAMMAL &= 9,674,642 10,466,000 AT91,358
= 2,016,000
[ 274,000
2 7,384,642
HAQESEH 30,000 30,000 0
1 A& H L2 30,000 30,000 0
01 Al&HI 30,000 30,000 0
OAN&ZE gX2e 15,000,000 «24 A& 30,000




EX: A4 ns
Hu: soolmens
e sE0SHY & sEMAML &5 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
JAHSEEZE S E 443,168 300,000 143, 168
401 AlEHIZL 201 Y| 443,168 300,000 143, 168
01 A& H| 440,000 300,000 140,000
OJIAHSEAZ RAES
40,000,000 =11 K| =* 440,000
03 Al 201 Y| 3,168 0 3,168
OAEE0Hdl 440,000,000 *0.72% 3,168
JIHSH BEZ SETA(MEAIY) 4,067,820 2,600,000 1,467,820
401 AlEHIZL 2 0HY| 4,067,820 2,600,000 1,467,820
01 Al&H| 4,056,870 2,583,365 1,473,505
ORENEAY 4,056,870
—A3XF 811,374
DI H P2 TR (HE
569,495,000& 569,495
< J|H A& 283 &KX EHH])
241,879,000 241,879
— S XX P 811,374
D HS B2 E TR (HE)
569,495,000 569,495
- JIH S E A28 A (XEHH])
241,879,000 241,879
CH=2 X3 811,374
S HS P2 EE A (ME
569,495,000& 569,495
- J|Hgt A& 28 ZH( X EHH])
241,879,000 241,879
— EWXF 811,374
D HS P2 TR (HE)
569,495,000 569,495
- JIH St HE & 28I A (X EH])
241,879,000 241,879
— ADJI R F 811,374
D HS B 2E TR (HE)
569,495,000& 569,495
- JIH BB AR ST A (XEH])
241,879,000 241,879
03 Al 201 Y| 10,950 16,635 N5,685
OdSENEAY 10,950
— J|H BB 2T (X8| ) 10,950
CASESUHHI(AX T 2 40A)
10,950, 000& 10,950
SAMHEIN LAY 583,654 200,000 383,654
401 Al HI L 2 0HHI 583,654 200,000 383,654
01 Al& B 580,000 200,000 380,000




AN A4S0
M solompas
SYl SENSHY L SUMMY =S (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OANdE8 RAEs22 5,000, 000 *5004 2 250,000
OblXlg 243 50,000,000& 4 & X 200,000
OAMSHHOIEEE B 30,000,000& » 14 30,000
OHNESE S & AE=S 2= 100,000,000 » 14! 100,000
03 Al 2 THHI 3,654 0 3,654
OAIE = HHI 580,000,000& *0.63% 3,654
I=MaNEsH (29 H) 865,000 1,203,000 A 338,000
as 605,000
< 78,000
i 182,000
403 MtXSHHE A0l & 865,000 1,202,500 A 337,500
s 605,000
< 78,000
i 182,000
02 S 2SO HEAEE 2 E AL H 865,000 1,202,500 A 337,500
OZS3l A A 865,000
— QHIPI ZMBHE S (BRSO ES A
865,000,000 865,000
s 605,000
< 78,000
s 182,000
I=MagNEsd (=) 616,000 185,000 431,000
s 431,000
< 55,000
s 130,000
401 AIEHI L 2 CHYI 616,000 185,000 431,000
s 431,000
< 55,000
s 130,000
01 A& HI 612,143 183,677 428,466
OZE3 A ALY 612,143
—>SHIZMENE=H 612,143,000 612,143
s 431,000
< 55,000
s 126,143
03 A2 2 0HHI 3,857 1,323 2,534
OZS2AHAEY 3,857
—+SHIZMENHESY
612,143,000& *0.63% 3,857
HATNAMEML (SHE) (2L 215,000 864,000 A 649,000
s 164,000
< 15,000
s 36,000
401 Al HIZ 201 I 215,000 729,000 A 514,000
s 164,000
< 15,000




AN A4S0
M sgolEets
€ sE0SHe &€ sgdayd &3 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 36,000
01 A& HI 213,463 724,436 A 510,973
OZS3l A A 213,463
— FHATAMEAS (2A0S)
213,463,000 213,463
s 164,000
< 15,000
s 34,463
03 Al 2 0HHI 1,537 4,564 A3,027
OZS3AHAEY 1,537
— FHAXNGAMEAS (ZA0LS)
213,463,000& *0.72% 1,537
HATNAMEML (SHE)(HZ) 486,000 417,000 69,000
s 364,000
< 37,000
s 85,000
403 UHXSHHSA=0l& 486,000 416,500 69,500
s 364,000
< 37,000
s 85,000
02 B 2SOICHeH U2 X 2 E A I 486,000 416,500 69,500
OZS3AHAEY 486,000
—ARSOHEANINAMHOANE (B2
EZAL) 486,000,000& 486,000
s 364,000
< 37,000
[ia 85,000
HAXNLAMEAS (SHE) (&) 628,000 0 628,000
s 452,000
< 53,000
s 123,000
401 AIEHI L 2 CHYI 628,000 0 628,000
s 452,000
< 53,000
[ia 123,000
01 A& HI 624,068 0 624,068
OZE3 A ALY 624,068
— A EAHE (A AEA) 70,000,000 » 14! 70,000
—FHAXNSE S0 2AMN AN
554,068,000 » 14! 554,068
s 452,000
< 53,000
s 49,068
03 A& =TI 3,932 0 3,932
OZ=2AHAEY 3,932
— A2 624,068,000& *0.63% 3,932




2N
X ZH -
L= B

el

ALDED
=QoITelaE
SENSHY ¥ sYuUs 25

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFSSSII(NMHEML) (SSOIS)(HEAY) 250,000 100,000 150,000
401 Al HI K 201 I 250,000 100,000 150,000
01 A& Bl 248,213 100,000 148,213
OZEHEAY 248,213
—AEHL(FS)(HE) 175,000, 000& 14 175,000
— XL (FS)(Xgdl) 73,213,000 «14] 73,213
03 A& S THHI 1,787 0 1,787
OadEdEAY 1,787
—ABNL(FS)(Xgdl)
248,113,000& *0.72% 1,787
DISSSI(RHSHE)(FL0IS)(HEAY) 250,000 100,000 150,000
403 XIS E X201 E 250,000 100,000 150,000
02 SO 2SO HEHAHE X &AL H 250,000 100,000 150,000
OaEMEAS 250,000
— XML (RLH)(AM2) 175,000,000 14 175,000
— XML (R (X)) 75,000,000 14 75,000
OSSN (NHENL)(SE0S)(HEAY) 250,000 100,000 150,000
401 AIEHIZL 20 250,000 100,000 150,000
01 A& Bl 248,213 100,000 148,213
OaENMEAMNG 248,213
—AsHL(=E)(HE) 175,000, 000& 175,000
—XEHL(==E)(Xdl) 73,213,000 73,213
03 AIE 2 THHI 1,787 0 1,787
OZSHEAY 1,787
—XENL(ZE)(XHl)
248,113,000& *0.72% 1,787
OISSII(NMSHL) (SHOIS)(HSAY) 250,000 100,000 150,000
401 Al HIZ 201 8] 250,000 100,000 150,000
01 A& HI 248,213 100,000 148,213
OadEdEAS 248,213
— XML (2d)(H&) 175,000,000 «14] 175,000
— XS (23)(Xgdl) 73,213,000 «14] 73,213
03 Al 2 0HHI 1,787 0 1,787
OnSdeA 1,787
— AL (S™)(Xg])
248,113,000& *0.72% 1,787
OISSSII(NMHESML) (SHOS)(HEAY) 250,000 100,000 150,000
401 A& HIZ 201 I 250,000 100,000 150,000
01 A& HI 248,213 100,000 148,213
OTZEHEAY 248,213




AN A4S0
HH: sooTonE
€ sE0SHe &€ sgdayd &3 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—NHENL(SHE)(HE) 175,000,000 * 14! 175,000
— XL (SH)(XHl) 73,213,000 «14] 73,213
03 AIE 2 THHI 1,787 0 1,787
OZSHEAY 1,787
— AL (SFE) (X))
248,113,000& *0.72% 1,787
DISSSII(NMHSML) (2S0S)(HSAY) 100,000 0 100,000
403 MtXISHHE A0l & 100,000 0 100,000
02 S 2SO0 HEAEE 2 E AL 100,000 0 100,000
OnSdeAY 100,000
—AEHg(2s)(HE) 70,000,000& =14l 70,000
— X2 (23)(Xgdl) 30,000,000 14 30,000
OIS 2SI(MHEMNL)(HEOS)(HEAY) 100,000 0 100,000
401 AIEHI L 2 CHYI 100,000 0 100,000
01 A& HI 100,000 0 100,000
OadEdEAS 100,000
— 8T OhE) () 70,000,000 =14l 70,000
— XSO0 (OHZE ) (XIghdl) 30,000,0009 14 30,000
DFSSSII(MHE8HL) (SS0IS)(HEAY) 100,000 0 100,000
401 AIEHI L 201 100,000 0 100,000
01 A& HI 100,000 0 100,000
OZEMEAMS 100,000
- AN (SS)(HE) 70,000,000& 70,000
— AL (S3) (X)) 30,000,000& 30,000
ODISCHSII(AHE8ML) (SLOIS)(HEAY) 100,000 0 100,000
403 A X EHHS =0l A 100,000 0 100,000
02 SO 2SOlCHet A2 X 2 EF A I 100,000 0 100,000
OZEXEAY 100,000
— AL (S (HE) 70,000,000& » 14! 70,000
— XML (S4AH)(XIgdl) 30,000,000 14 30,000
012012 =8I0 =8 oM QtHHS & XIAHY 90,000 0 90,000
< 36,000
s 54,000
401 A& HIZ 201 I 90,000 0 90,000
< 36,000
fia 54,000
01 A& Bl 90,000 0 90,000
OZHIEx= A 90,000
—OHHS EXAY 90,000,000& =14 90,000
< 36,000
fia 54,000




2N
X ZH -
L= B
el

ALDED
sololmet s
SLNLAY

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0L A 57,000 676,000 A 619,000
< 17,000
s 40,000
SR E=FEHEXAY 57,000 150,000 293,000
< 17,000
s 40,000
401 Al HI X 201 57,000 150,000 293,000
< 17,000
[ia 40,000
01 A& HI 57,000 150,000 93,000
OEHIEXZ ALY 57,000
—EERE =S EINAE (H2X ) (L=0.5k
m) 57,000,000 » 14! 57,000
= 17,000
[ 40,000
ClAIE28HE=ALE 10,972,158 8,518,398 2,453,760
= 858,000
< 1,432,400
i 8,681,758
=ClAIESHE=AS 2,171,342 1,481,654 689,688
201 Let24E] 9,900 7,000 2,900
02 =224l 9,900 7,000 2,900
O=clAIE2 &IIRs
25,0003 *33JH A = 1200 & 9,900
TAIEHI &R0 1,561,442 1,174,654 386,788
01 A& HI 1,555,840 1,170,440 385,400
O=clANE2 HE=AY 1,555,840
— A2 22ANEE HES(SHAL)
48,528,000 *300H 2 1,455,840
~ 598 2E Y 4T 24
10,000,000 * 1094 £ 100,000
03 Al S THHI 5,602 4,214 1,388
=ClAIE2 HE=AS AIE20UHI
1,555,840,000& *0.36% 5,602
403 XSS X201 & 600,000 300,000 300,000
02 SO 2SO HEHAHE X 2 E AL Y 600,000 300,000 300,000
Oet=s0HESMRY =2ANE2 HE= 600,000
—SUHESATRE FelAESHE =
40,000,000& *100H & 400,000
—FEMSX E& & FHl
200,000,000& =14 200,000
FelAEEMESAL(ZHI) 333,000 233,000 100,000
< 100,000
s 233,000




AN A4S0
HH: sooTonE
&2 =2lAESHEFAS (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
TAIEHI &R 333,000 233,000 100,000
= 100,000
s 233,000
01 A& HI 330,620 231,334 99,286
OZHIEx= AL 330,620
— Sl+=Z &4l 330,620,000 =14 330,620
= 100,000
s 230,620
03 Al 2 THHI 2,380 1,666 714
OZHIEx= AL 2,380
—F=CAESHES=AMY AR
2,380,000& 2,380
H=Xl W2+ 733,996 768,584 A 34,588
401 A& HIZ 2018 733,996 768,584 A 34,588
01 A& HI 729,400 764,520 A 35,120
OM=Xl MY ZHiol
150, 0003 *3H 23| x 166 H £ 149,400
OM=X E=x(SX&2l) 10,000,000 *15H 2 150,000
OM=X E(S2242) 40,000,000 1000 & 400,000
OXM=X(0=)2cI8ANEY
3,000,000 *100H 2 30,000
03 A& S THHI 4,596 4,064 532
OM=XMHE+AY ALY
729,400,000& x0.63% 4,596
MHHASE KNS HE(BEX)(MHFAE M =X) 1,716,000 1,128,000 588,000
= 858,000
= 257,400
s 600,600
401 Al HIZ 201 I 1,716,000 1,128,000 588,000
= 858,000
< 257,400
s 600,600
01 A& HI 1,709,844 1,123,953 585,891
OZHIEx= At 1,709,844
—3FAMHAS M=K I A
557,948,000 » 14! 557,948
= 280,000
< 84,000
s 193,948
— HSMH?IE XM ==XEHI A
597,948,000& » 14! 597,948
= 300,000
< 90,000
s 207,948
—S=MoHAS M=K AL
553,948,000 =14l 553,948




SN AEDED
M =oolmpnE
CHel: 22 AE2HE 2 ALY (CHel ® )
SAE|
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
= 278,000
= 83,400
= 192,548
03 A& 2 0HY| 6,156 4,047 2,109
O=ZHIEXZ ALY 6,156
—XHBH-?—I%‘IH‘—XI@HIA (3 A)
1,709,845,000& *0.36% 6,156
SHIBHEY (ARSI IS ) (HEALS) 1,000,000 100,000 900,000
& 860,000
2 140,000
401 Al HI L £ 0HHI 1,000,000 100,000 900,000
= 860,000
= 140,000
01 A& HI 993,740 100,000 893,740
OdENEAY 993,740
—OIEN T AFDHAIN LA (FB)
800,000,000& 800,000
= 800,000
—OIEN T AFDHIAINA A (X2HI)
193,740,000& 193,740
< 60,000
= 133,740
03 A& 2 0H Y| 6,260 0 6,260
ORENEAY 6,260
— 0™ T A2 HH2=IH& AL (Xl -HH])
6,260,000 6,260
AR BAHLAY(EX)(HEAY) 4,767,820 3,500,000 1,267,820
401 AlEHIZL £ 0HY| 4,767,820 3,500,000 1,267,820
01 Al&H| 4,754,980 3,478,085 1,276,895
OdSNMEAY 4,754,980
— HE X2 1,188,745
CARDERAINLAY (FE)
834,368,000 834,368
ARDEAINSANY (Xl 2HH])
354,377 ,000& 354,377
—SEXNF 1,188,745
ARDEAHLAIY (X E)
834,368,000& 834,368
ARD MY AL (XlEHH])
354,377 ,000& 354,377
— 0|8 X+ 1,188,745
ARDELNLAIY (X&)
834,369,000& 834,369
ARDEAINSAY (Xl 2HH])
354,376,000& 354,376
— X} 9| X+ 1,188,745




EX: A4 ns
Hu: soolmens
Sl AL SHE AL CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
AAZELINEAIY (M EH)
834,369,000 834,369
AR ESINE ALY (XlEHH])
354,376,000 354,376
03 AlE 201 | 12,840 21,915 N9,075
OdSHEAY 12,840
— ARSI ALS (X 8HH]) 12,840
ANESHH (HE X2 2 3HA)
12,840,000 12,840
Fela MK HHIAIY (HEAIY) 250,000 0 250,000
= 215,000
= 35,000
401 Al HI L 204 HI 250,000 0 250,000
o 215,000
= 35,000
01 Al&H| 250,000 0 250,000
OdSENEAY 250,000
— F2A MK HHIAY (X&)
200,000,000 « 1Al 200,000
= 200,000
— Pela MEX HHAFY (XIEH])
50,000,000 x 1Al 50,000
= 15,000
= 35,000
HPREHXNAC AL 2,400,000 1,525,000 875,000
= 2,160,000
= 240,000
HI2X P HPEZBXNZHCIAY (HSAY) 2,000,000 1,525,000 475,000
& 1,800,000
= 200,000
403 XX SHHS K20 ™ 2,000,000 1,525,000 475,000
= 1,800,000
= 200,000
02 BI2SHUSXE2ERAEAISHI 2,000,000 1,525,000 475,000
ORENEANY 2,000,000
~HIXP HPHANDAANG (RS0 ED
AP (H &) 1,600,000,000& 1,600,000
o 1,600,000
—g2XP HREZIXNEHZAMY (I Z2s0=2
AR)(XKIEHH]) 400,000,000& 400,000
o= 200,000
= 200,000
HEXF HPEBXHCIAML (HEAY) 200,000 0 200,000
&< 180,000
= 20,000
403 XX SRS K20l & 200,000 0 200,000




AN A4S0
Hu: soolmens
S 3 XNE2AAY (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 180,000
s 20,000
02 B 2SOICHe 2R E A I 200,000 0 200,000
OadSEdE&AY 200,000
—HEXNT HPHANHAAL (BRSHER
A (& &) 160,000, 000& * 14 160,000
= 160,000
~HEXNT BPEANDAANG (RS0 ED
Ab) (RIEHl) 40,000,000& * 14| 40,000
= 20,000
[ia 20,000
AP HREBXNZ AL (MEAY) 200,000 0 200,000
= 180,000
= 20,000
401 AIEHI L 2 CHYI 200,000 0 200,000
< 180,000
s 20,000
01 A& HI 200,000 0 200,000
OREXEAI 200,000
P ENEEEDE-EP=TEEY
160,000, 000& * 14! 160,000
< 160,000
—HEX T WX el A (XEdl)
40,000,000& =14 40,000
< 20,000
fia 20,000
Hsnsast 10,848,375 8,368,745 2,479,630
= 15,600
s 1,493,000
< 854,720
s 8,485,055
2 HMHE XA 6,694,901 4,271,109 2,423,792
= 15,600
s 450,000
< 806,620
s 5,422,681
249 RNEX XN 1,300,000 1,300,000 0
307 2201 A 1,300,000 1,300,000 0
09 24+AABES 1,300,000 1,300,000 0
O=2=gH M=z N2 1,300,000,000& 1,300,000
HASH MEXA(ZHI) 810,000 810,951 A 951
< 405,000
s 405,000
307 izl & 810,000 810,951 A 951
= 405,000
s 405,000




AN A4S0
g Hsuses
Sl 24H I X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 2HAHAEXS 810,000 806,688 3,312
OZHIEx= AL 810,000
—sHEHA HEBXZ 800,000,000 =14l 800,000
S 400,000
s 400,000
—S0lEHA DSIHE +42 X8
250,000,000 *4% 10,000
< 5,000
s 5,000
HALd SHA S 1,523,217 791,481 731,736
s 450,000
< 380,000
s 693,217
307 gl2tol & 1,523,217 791,481 731,736
s 450,000
< 380,000
s 693,217
09 2HAHAEXS 1,523,217 791,481 731,736
OS2 AHAMY 1,623,217
—HIld 42483 A&
1,523,217,000& 14 1,523,217
s 450,000
< 380,000
s 693,217
=8 3gH2a 7Y 1,257,610 0 1,257,610
201 L2l 17,610 0 17,610
01 At 22l 17,610 0 17,610
O3gH A 2 =2 1,290,000, 000& * 1% 12,900
O3dHA AIZE 22|
282 1,500,000& *30H 4,500
O3ZHA AIZE 22yl
Bl g M 70,0003 »3CH 210
401 AIEHIZL 2 CHEI 80,000 0 80,000
01 A& Bl 80,000 0 80,000
8 IIHA(MIIHA) SHI| X HIIS
At 80,000,000& =14l 80,000
405 Xt&tE SHI 1,160,000 0 1,160,000
01 AL EFH S 1,160,000 0 1,160,000
OF8 SIHA(HIHA)2Y
360,000,000 *3CH 1,080,000
OS8 SSHA(HIIHA)SHED
40,000,000 »2CH 80,000
HAQIE 822 £X 110,290 79,000 31,290
201 et 97,200 72,000 25,200
01 At 22l 97,200 72,000 25,200




EX: A4 ns
MM Hzsns=23
Sl 24H I X CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OH~o® ao= 22 =20
200,000& x18CH =10 36,000
ONAHHA 822 2210 =2H|
300,000& *17CH = 12& 61,200
401 AlEHIZL 201 Y| 13,090 7,000 6,090
01 Al&H| 13,090 7,000 6,090
ONAHA 821D EE2 M
770,000 =17CH 13,090
EHAIAH THE X & 355,000 254,873 100,127
201 et d| 324,000 225,600 98,400
01 AP 2t 2| H| 324,000 225,600 98,400
OEAl 282 10| 300,000& x90CH 12& 324,000
401 AlEHIZL 2 0HY| 29,700 28,200 1,500
01 Al&H| 29,700 28,200 1,500
OEAl 282210 H A 330,000 90CH 29,700
403 XX SRS R 20| & 1,300 1,073 227
02 2| 2S0 et 2= EAIS Y 1,300 1,073 227
EHAl S AEE 22 AIAE 2 Hl 1,300,000 1,300
HAES WESFXZAH(EZH) 62,069 53,716 8,353
= 18,620
= 43,449
101 121 4| 62,069 53,716 8,353
= 18,620
= 43,449
04 JI2ZtHIZ22 NEES 62,069 53,716 8,353
OEHEXZAY 62,069
—HIEd DS XA
73,2803 *77H x5 5L x23| 62,069
& 18,620
= 43,449
EHAIZRE KNI (=H]) 220,000 192,000 28,000
= 15,600
= 204,400
301 et A= 220,000 192,000 28,000
= 15,600
= 204,400
12 JIEtE2 A= 220,000 192,000 28,000
OZHIEXZAY 220,000
— BHAINIES 2 ALY 55,000,000 =4CH 220,000
= 15,600
= 204,400
EBHAIH THE XIS (&EHI) 6,000 6,000 0
& 3,000




EX: A4 ns
MM Hzsns=23
Sl 2L HMHE N (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 3,000
307 2iz2to| A 6,000 ,000 0
< 3,000
= 3,000
09 2LHAHEX2 6,000 ,000 0
OEHEZAY 6,000
— AMINEAM =2 XN 6,000,000& 6,000
& 3,000
= 3,000
HAH HE XS (XA 1,050,715 ,088 267,627
101 Q121 H| 221,215 ,088 11,127
04 JI2ZtHIZ22NEES 221,215 ,088 11,127
O=sHEHA otk &0 29 221,215
A== 73,2803 *7H %252 129,266
—FE53E 73,280& *7H 51 26,161
— XY 73,280&A x7H x12 6,156
—52422 109,920& »7H x40 30,778
—-YE24HBER2) 192,360,000& *15% 28,854
201 YEt2 Ayl 55,500 ,000 52,500
01 AP 2t 2] d| 43,000 ,000 40,000
OHAZH AIZH =228 S 3,000,000 x14 3,000
OFE nsEite ¢ 2,000 x20,0000H 40,000
02 2324 12,500 0 12,500
ONEIE ) Tz ) SAY|
1,250,000 x10& 12,500
207 30 & 36,000 ,000 4,000
01 A& Y| 36,000 ,000 4,000
OsHEHA 2246 2 ez I
MNEH HdE 29 18,000,000 « 1Al 18,000
OsHEHA 28 =X 24 54
18,000,000 1A 18,000
307 giztol A 738,000 ,000 200,000
09 2LHHEXZ 738,000 ,000 200,000
OHIARIH =A24A32 738,000,000& » 1Al 738,000
SEENSERYAMY 529,600 ,600 300,000
hag 243,000
o= 47,100
= 239,500
SWE AQXNHE FOUXHA 3,600 ,600 0
201 et Y| 3,600 ,600 0
01 AP 2t 2] H| 3,600 ,600 0




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

2EANAY S22l

300,000& =128

3,600

Mo A

216,000
93,000
46,500
76,500

216,000

307 21201 &

Mo A

216,000
93,000
46,500
76,500

216,000

M A

216,000
216,000
216,000

93,000
46,500
76,500

216,000

Mo

300,000

150,000
150,000

300,000

307 glz2tol &

Mo

300,000

150,000
150,000

300,000

o
o
H0
X

X H
A
oy

Jn e

O
GO
ton

=
1%

oY NEAY

300,000,000& » 14!

|
OF
i
it
E
Ot

UK

300,000
300,000

300,000

150,000
150,000

300,000

M H

10,000

600
9,400

10,000

UL

10,000

600
9,400

10,000

A&
200,000& x50

Mo

10,000
10,000

10,000
600
9,400

10,000

o

,645,774

800,000

,845,774

2,678,066

N 32,292

470,785

681,662

N~210,877

173,965

139,870

34,095

173,965

139,870

34,095




2N HENED
M HzunsS=23
S NSHIYALES (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O332g%Htl 173,965
—=S8FEI @5 CCTVE RAEx
22,000,000 14! 22,000
~DENSI| S HIQHEY Loz
75,000 *2394 17,925
—QOIDECAEY EHIIBA L4
1,800,000& *22 4 39,600
—WESANSE dIIR2= 30,000& 2390 «12& 86,040
— NECMAIEZE SHL2  700,000& x12& 8,400
401 Al HI L 2 0HHI 296,820 541,792 N244 972
01 A& HI 293,600 538,400 N 244,800
QUEQHE AMES(BIAME S)EX & HH|
500,000& 1004 50,000
OQUEANSS(EES) M & s&
15,000, 000& *3JH 2~ 45,000
O8I &5 &l4d 10,000,000& *1JH & 10,000
OnsS&Ez=uHM 20,000,000& =24 A~ 40,000
OWfzdst=0 ASHONI WA
6,800,000& 64 A~ 40,800
O™ £ 5030 A& AH| 20,000,000& *14] 20,000
OEZ M EX T A 300,000& 1004 30,000
QUEANS) SXNEL(HSH)
25,000& * 1660 12& 49,800
OFUE A (FOUHCOHE) 8,000
—Z2E225 4 T2 HMAIAE A XA
8,000,000 14! 8,000
03 AIEE2HH]| 3,220 3,392 N172
OAl& 20| 3,220
WECHNMAIEZE EXAE
511,100,000& *0.63% 3,220
HASZE &X 22 178,778 196,404 N17,626
401 Al HIL 200 178,778 196,404 N 17,626
1 A& I 177,500 195,000 A 17,500
OMAZZE £ 2 DA
12,000, 000& 104 A~ 120,000
OHASZE &M U B 20,000
~HASYN M U Ba
400,000 *5004 A~ 20,000
OHASZE SANEL(HSH)
20,000,000 14! 20,000
OsZ&E 22X &l 3,500,000& 54 A~ 17,500
03 A& 20 b 1,278 1,404 N 126
OAl& 20| 1,278
—HASZE EXAE 177,500,000 *0.72% 1,278




AN A4S0
g Hsuses
S NSHAANLES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SHEHEUHSEFANET LAY 500,000 0 500,000
s 250,000
s 250,000
401 Al HI K 201 I 500,000 0 500,000
s 250,000
s 250,000
01 A& Bl 500,000 0 500,000
OZE3AHAY 500,000
—StEHEHEHSEFUHE I GAMY
500,000,000 » 14l 500,000
s 250,000
[ia 250,000
OOl MM IAFIE ZAAY 1,100,000 0 1,100,000
as 550,000
i 550,000
401 Al HIZ 201 Y] 1,100,000 0 1,100,000
as 550,000
i 550,000
01 A& HI 1,100,000 0 1,100,000
OZS3l A A 1,100,000
—Ololpt MATYFENY ZHAY
1,100,000, 000& * 14 1,100,000
s 550,000
s 550,000
SHSMEEE =XE 29 396,211 0 396,211
101 @124l 127,211 0 127,211
04 D12t 22 HEE = 127,211 0 127,211
OtS=xgE 2l 127,211
—Jlegs 73,2803 x4 3 »252 73,867
— T4 73,2803 x4H 51 14,950
PN 73,2803 x4H x 122 3,518
—suaesy 109, 9202 *4% +40L 17,588
—-BE=40 BEE) 109,920,000& * 15% 16,488
— o=l 200,000& »4H 800
201 Let24d] 39,000 0 39,000
01 At 22/l 15,000 0 15,000
OFX&E & N2 sX2el ¥ HF 7€
15,000, 000& * 14 15,000
02 =24l 24,000 0 24,000
O03323(&Jl, =% ,84) 2,000,000& 128 24,000
401 Al HIZ 201 Y] 230,000 0 230,000
01 A& HI 230,000 0 230,000




SH: A
=R
el o

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFxinas SOANLE 25
200,000,000 =14 200,000
OFXE ANE RIE= 30,000,000& =14l 30,000
EHF EXNHS nSEN =2E 612,190 557,370 54,820
nEsZEMN 22 44,850 43,350 1,500
201 L4l 39,850 38,350 1,500
01 At 22l 39,850 38,350 1,500
OS28=31x 82 % MH
50,0003 *5004 2 *23| 5,000
O=sgH (=Exdgs nsEdel)
8,000& x5H 902! 3,600
O=xea =+ MA WA 150& %20, 0000H 3,000
OAZ Ho9IRE L B S BHLY
100,000 10 53| 5,000
OFEX UEg s 23 IXNA £ AEA M
= 300& x1,00001 =102 3,000
OF3X ¢ 88 7L (53)
3,000,000& »14! 3,000
Ousord &g 28 M
60,000 109K 2 +83] 4,800
OO0IEXsS A B ME 16,500& 5004 8,250
OSEAIEHIEE H2XIAANLE S E2Hl
350,000& »12& 4,200
307 glz2tol & 5,000 5,000 0
02 IZtE M AHE L 5,000 5,000 0
OnssAastH XA 5,000,000 » 14l 5,000
SYHF . FXES 567,340 514,020 53,320
101 124 dl 80,439 76,413 4,026
04 D12t Z2XEES 80,439 76,413 4,026
Os8= .8 =5 80,439
—Jlas 73,2803 x3H x200 43,968
- =54 73,2803 x3H x302 6,596
— QX 73,2803 x3H+10 2,199
— 522 73,2803 1. 581 x3Y x50 16,488
— B840 2EE8) 69,249,600& *15% 10,388
— o=l 200,000& x4H 800
202 044l 4,000 4,000 0
01 = LH o4 1l 4,000 4,000 0
O=8Y =FX &= bl 20,0003 x4 x50 4,000
307 21201 A 355,401 323,607 31,794
05 BIZHRIE 3 355,401 323,607 31,794




AN A4S0
M HsnsS2st
Sl BHE MACS DSEN 2Y (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZB:-4x18 REd 28 74
355,401,000 =14 355,401
401 Al HIZ 201 I 127,500 110,000 17,500
01 A& HI 127,500 110,000 17,500
OSYFFI S=3t0et M- (2HA)
30,000,000 *20H 2~ 60,000
OSYEFIX 7Y LHEAN S ANEMA 67,500
— 3= KX BAE 100,000& *50 4 5,000
— FXAHS 50,000& 5004 25,000
— A HM LHIA 350,000 *500H 2~ 17,500
~FHI YL POEE L0 TN
20,000,000& =14 20,000
SEguns+tiA 272,000 272,000 0
= 1,000
[ia 271,000
Eg8nNE 2I XA (=Hl) 2,000 2,000 0
< 1,000
s 1,000
201 Let24d] 2,000 2,000 0
< 1,000
[ 1,000
01 At 2teltl 2,000 2,000 0
OZHIEXZAY 2,000
—SEUESH(2HAN) RE2E2 SR
2,000,000& =14 2,000
< 1,000
i 1,000
SgusS+==HN& 270,000 270,000 0
307 21201 A 270,000 270,000 0
05 BIZHRIE 3 270,000 270,000 0
ONMEANE 98t ZHA 2% e
45,000,000& +6CH 270,000
Hzsussd 93,910 60,600 33,310
AMAHAHOIE 2GR 45,600 45,600 0
307 21201 A 45,600 45,600 0
02 HIAFAAFEX 45,600 45,600 0
OQtYAIBAEHDOIE 2gH XA
2,000,000& x12& 24,000
OM&HAHOE 2%H X&
1,800,000 =123 21,600
2 HAXHSAAE(BIS) 2 X2 48,310 15,000 33,310
403 XSS X201 & 48,310 15,000 33,310
02 S 2SO0 HEAEE 2 E AL 48,310 15,000 33,310




2N AEDE

Hu: HEZDES
o
o

st
¢e: tHsnsssy CEERED)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oz HARBAIAH(BIS) 29
48,310,000& =14 48,310
HE2HZH (AL nSH) 95,616 88,434 7,182
Jl=&l 95,616 88,434 7,182
Jl234 95,616 88,434 7,182
201 2et24d] 53,976 49,914 4,062
01 At 2teltl 53,976 49,914 4,062
ORNEA 1,831,000& »24H 43,944
O=gtl 4,800
— E20altl 8,000 & x24H 25 4,800
OS A Xt 5,232
—Z =S A 286,000 x1CH+128 3,432
— SHEAD] 150,000 » 1+ 12& 1,800
202 o4dl 37,440 34,320 3,120
01 = LH o4 1 37,440 34,320 3,120
O2tL ol 80,0003 x24H x12& 23,040
O&2 o dl 75,0003 x24H «8 14,400
203 YR =&l 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
ORAM2IYRFLHI 350,000& x12& 4,200




